—

] cnSio R//za_y t fZCmP; VP,.&G)Z'}{ Py [ L3
._é___>+ 3 -
oo D C lw;. )———l-> 4"‘212}"_>
ZE:M'Q ZF;:VV]LG\
T =M T +F. =4
T =g
& + Tz 4 @ T=wm,q |
II’: :({/Vl, -l/"l—c_)‘\ T - /L/[(s) (o. 7/:./}'}

L2 _a [:T_:Z,357A{T

—Tl"T'L:‘M‘L‘\

.__{yn.c,-+l'*z_] + ):, ~mg e =M,
~F, 1k - meadimsesm, e
-F, 4+~

VV,.L-OM‘\_S -f? =Aa

-la.64 9 8

0. 754" =4
3 472+8 L

@ —T-,:'VVI,C\-#F; /‘Z—”E—qu

] A
T, = (3ke) (759 %)+ (96N Te =8N~ s ks)fo7504x)

J lm {m




- Mg -msa *W'n? TP e -Meg =

-Mz9 + M, 9 “VVIL@ :(le_-iW!3 +W‘:)¢\

o - —-V‘*Lsﬁ +I/Vl‘g -m_l_a“) - %3(—Zk546[<6~;% - 9.8 /,)

P 105 Zieg +6 kg 47 ks M

La:@.é’clmwm |

& T, = M3 (?"4) T, — m, ((j-f»q)
T, = 2k (4.8+0.8904) T = 6k (‘9-3‘&-5’9”‘?)
T, :21.3218 T, = 52355

~)

, s oN

2
) 2



:(Y?ké) (‘I,fj w/f")
B T
Sim M5 g
. (75.&(/1/ ,
Q S ten” W1

& =232.23°

0



